3) The point  $P(1, \frac{1}{2})$  his on the curve  $y = \frac{n}{(1+n)}$ a)  $Q(n, \frac{2}{(1+n)})$ Stope of PQ,  $m = \left(\frac{n}{1+n} - \frac{1}{2}\right) / (n-1)$   $= \frac{2n-1-n}{2(1+n)} = \frac{(n-1)}{2(1+n)}$  $= \frac{n-1}{2(n^2-1)} = \frac{n-1}{2n^2-2}$ 

 $M = \frac{0.5 - 1}{2(0.5)^2 - 2} = \frac{-0.6}{-1.5} = 0.333333$ 

ii) n = 0.9 m = 0.9 - 1 = 0.9 - 1 = 0.263153 $2n^2 - 2 = 2(0.9)^2 - 2$ 

 $m = \frac{0.99 - 1}{2(0.99)^2 - 2} = 0.25/256$ 

m = 0.999 - 1 = 0.850 / 25  $2(0.999)^2 - 2$ 

v) 1.5  $m = \frac{1.5-1}{2(1.5)^2-2} = 0.2$ 

$$V_{1})\chi_{1}=|\cdot|_{1}$$
 $M=\frac{|\cdot|_{1}-1}{\alpha(|\cdot|)^{2}-2}=0.238095$ 
 $V_{11})\chi_{1}=|\cdot|_{0}1$ 
 $M=\frac{|\cdot|_{0}1-1}{\alpha(|\cdot|_{0}1)^{2}-2}=0.248756$ 
 $V_{11})$ 
 $\chi_{1}=|\cdot|_{0}01$ 
 $M=\frac{|\cdot|_{0}01-1}{\alpha(|\cdot|_{0}01)^{2}-d}=0.249875$ 
 $\chi_{1}=\frac{|\cdot|_{0}01-1}{\alpha(|\cdot|_{0}01)^{2}-d}=0.249875$ 

Initial inclosity of an amolo,  $V_{1}=58m/s$ 
 $\chi_{1}=587-0.831^{2}$ 

a) Find the annage inclosity there the given blue interval.

1)  $E=E_{1},2J$ 
 $\chi_{1}=58-0.83$ ,  $\chi_{2}=58(2)-0.83(2)^{2}$ ,  $\chi_{4}=1$ .

 $\chi_{4}=56.51$  m/s

**(** 

$$Vary = \frac{58(1.001) - 0.93(1.001)^2 - 58 + 0.83}{0.001}$$
(V) Vary = 56.33917 m/s 4.

b) Instantaneos velocity after one second,
$$V = \frac{dh}{dt} = 58 - (2 \times 1.83) t$$

$$\frac{dt}{t} = 1$$

= 
$$58 - (2 \times 0.93) = 56.34 \text{ m/s}$$
  
\(\text{:} \nabla =  $56.34 \text{ m/s}$ , instantaneous welocity after me second.

a) Q The point P(2, Ln2) his on the curve y=ln2a) Q (n, lnn)Slope of  $PQ = \frac{lnn-ln2}{2r-2}$ 

i) when 
$$n=1.5$$

$$m = \frac{0.1.5 - 0.2}{0.5.75.364}$$

m= 0.512533

iii) When n = 199 m = 0.501254)

iv) when 2 = 1.993

m = [0.500/25]

m=0,446287

(m= 0.487902)

b) 
$$y = \ln n$$

$$\frac{dy}{dn} = \frac{d}{dn} \ln n = \frac{1}{n}$$

$$\frac{dy}{dx}\Big|_{y=\ln x} = \frac{1}{2}$$

$$\frac{1}{2}$$

The Hope of the target sine to the curve at PC2, ln2) = 1/2.

9

$$m = \frac{y - \ln x}{n - 2}$$
or,  $\frac{1}{x} + (n - x) = \frac{y - \ln x}{n - 1}$ 
or,  $\frac{1}{x} + (n - 1) = \frac{1}{x} + \ln x - 1$ 

$$\therefore y = \frac{1}{x} + \ln x - 1$$

$$\text{required eq}^{1} = \frac{1}{x} + \frac{1}{$$

4)

y=Un

